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,,,1 6WDWLRQ 2SHQLQJV

6HFWLRQ ,,, RI WKH 4<<<05333 VHDVRQ SODQV OLVWV WKH QDPHV/ ORFDWLRQV/
DQG RSHQLQJ GDWHV RI WKH 3DUW\*V EDVHV DQG VXEVLGLDU\ VWDWLRQV
HVWDEOLVKHG LQ WKH $QWDUFWLF 7UHDW\ $UHD/ DQG ZKHWKHU WKH\ DUH IRU

VXPPHU DQG2RU ZLQWHU RSHUDWLRQV1

<HDU 5RXQG 6WDWLRQV

0F0XUGR 6WDWLRQ

/RFDWLRQ= +XW 3RLQW 3HQLQVXOD RQ 5RVV ,VODQG LQ 0F0XUGR 6RXQG

::� 88*6 /DWLWXGH
499� 6<*( /RQJLWXGH

$QQXDO 5HOLHI= 5; 6HSWHPEHU 4<<<

$PXQGVHQ06FRWW 6RXWK 3ROH 6WDWLRQ

/RFDWLRQ= <3� 33*6 /DWLWXGH

$QQXDO 5HOLHI= 58 2FWREHU 4<<<

3DOPHU 6WDWLRQ

/RFDWLRQ= $QYHUV ,VODQG QHDU %RQDSDUWH 3RLQW

97� 79*6 /DWLWXGH
97� 38*: /RQJLWXGH

$QQXDO 5HOLHI= 53 6HSWHPEHU 4<<<
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$XVWUDO 6XPPHU &DPSV

6LSOH 'RPH &DPS

/RFDWLRQ= ;4� 6<*6 /DWLWXGH
47<� 37*: /RQJLWXGH

2SHQ= 59 2FWREHU 4<<

&ORVH= 34 )HEUXDU\ 5333

%\UG &DPS

/RFDWLRQ= ;3� 38*6 /DWLWXGH
44<� 65*: /RQJLWXGH

2SHQ= 35 2FWREHU 4<<<

&ORVH= 34 )HEUXDU\ 5333

0LG0& &DPS

/RFDWLRQ= :8� 65*6 /DWLWXGH
478� 7<*: /RQJLWXGH

2SHQ= 3; 1RYHPEHU 4<<<

&ORVH= 63 'HFHPEHU 4<<<
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3LHWHU -1 /HQLH )LHOG 6WDWLRQ
+%&RSDFDEDQD%,/ .LQJ *HRUJH ,VODQG

/RFDWLRQ= 95� 43*6 /DWLWXGH
8;� 5;*: /RQJLWXGH

2SHQ= 46 2FWREHU 4<<<

&ORVH= 70DUFK 5333

&DSH 6KLUUHII )LHOG 6WDWLRQ / /LYLQJVWRQ ,VODQG

/RFDWLRQ= 95� 5;*6 /DWLWXGH
93� 7:*: /RQJLWXGH

2SHQ= 5< 2FWREHU 4<<<

&ORVH= 40DUFK 5333


